Mc Graw Hill

Because learning changes everything.

QUOTE PREPARED FOR:

New Hampton Comm Sch Dis 710 W MAIN ST NEW HAMPTON, IA 50659-1004 ACCOUNT NUMBER: 307010

CONTACT:

Karen Kayser-Kemp k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

SUBSCRIPTION/DIGITAL CONTACT:

Karen Kayser-Kemp k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

SALES REP INFORMATION:

Bill Kearney william.kearney@mheducation.com (319) 333-8627

		Value of All		
Section Summary	Materials	Free Materials	Product Subtotal	
Reveal Math © 2022 - Grade K (6 Year)		\$17,439.21	(\$5,533.11)	\$11,906.10
Reveal Math © 2022 - Grade 1 (6 Year)		\$17,538.78	(\$4,792.80)	\$12,745.98
Reveal Math © 2022 - Grade 2 (6 Year)		\$16,854.12	(\$5,579.46)	\$11,274.66
Reveal Math © 2022 - Grade 3 (6 Year)		\$21,136.59	(\$5,580.90)	\$15,555.69
Reveal Math © 2022 - Grade 4 (6 Year)		\$15,011.70	(\$2,704.50)	\$12,307.20
Reveal Math © 2022 - Grade 5 (6 Year)		\$15,770.10	(\$2,704.50)	\$13,065.60
Professional Development		\$8,000.00	(\$5,000.00)	\$3,000.00
	PRODUCT TOTAL*	\$111,750.50	(\$31,895.27)	\$79,855.23
	ESTIMATED S&H**			\$3,992.00
	ESTIMATED TAX**			TBD
	GRAND TOTAL*			\$83,847.23

* Price firm for 90 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Comments:

Please start all licenses on August 1st 2024

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:	McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com Phone: 1-800-338-3987 Fax: 1-800-953-8691					
QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024		
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	1		



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2022 - Grade K (6 Year)				-	
REVEAL MATH GRADE K STUDENT BUNDLE WITH MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License and MH+	978-1-26-580284-4	77	\$122.61	\$0.00	\$9,440.97
REVEAL MATH GRADE K STUDENT BUNDLE WITH REDBIRD AND MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, Redbird and MH+	978-1-26-541123-7	0	\$140.07	\$0.00	\$0.00
REVEAL MATH SPANISH STUDENT EDITION 6 YEAR PRINT PACKAGE GRADE K	978-1-26-438758-8	5	\$101.13	\$0.00	\$505.65
Teacher Materials				•	
REVEAL MATH TEACHER RESOURCE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE K Includes: Teacher Editions + Teacher Digital License + Assessment Resource Book and Differentiation Resource Book	978-1-26-438962-9	6	\$683.07	\$4,098.42	*Free Materials
REDBIRD MATHEMATICS TEACHER 6 YEAR SUBSCRIPTION	978-0-07-906784-5	5	\$46.35	\$231.75	*Free Materials
REVEAL MATH IMPLEMENTATION GUIDE GRADE K-5	978-0-07-694684-6	6	\$57.24	\$343.44	*Free Materials
	Т	eacher Mate	erials Subtotal:	\$4,673.61	\$0.00
<u>Manipulatives</u>					
REVEAL MATH MANIPULATIVE KIT GRADE K	978-1-26-441729-2	4	\$489.87	\$0.00	\$1,959.48
REVEAL MATH WORKSTATION KIT GRADE K Includes: Workstation Teacher Guide, Game Station Resource Book, Application Station Cards, Manips: Transparent Spinners, People Pawns, Number Cubes 1-6	978-1-26-590921-5	5	\$171.90	\$859.50	*Free Materials
		Manipula	tives Subtotal:	\$859.50	\$1,959.48
	Reveal Math © 2022 -	Grade K (6	Year) Subtotal:	\$5,533.11	\$11,906.10

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	2



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2022 - Grade 1 (6 Year)					
REVEAL MATH GRADE 1 STUDENT BUNDLE WITH MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License and MH+	978-1-26-580322-3	81	\$122.61	\$0.00	\$9,931.41
REVEAL MATH GRADE 1 STUDENT BUNDLE WITH REDBIRD AND MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, Redbird and MH+	978-1-26-541600-3	0	\$140.07	\$0.00	\$0.00
REVEAL MATH SPANISH STUDENT EDITION 6 YEAR PRINT PACKAGE GRADE 1	978-1-26-438771-7	5	\$101.13	\$0.00	\$505.65
ALEKS ADVENTURE PARTNER 1 YEAR STUDENT SUBSCRIPTION	978-1-26-439680-1	0	\$15.00	\$0.00	\$0.00
ALEKS ADVENTURE ADD ON 6 YEAR STUDENT SUBSCRIPTION	978-1-26-481632-3	0	\$46.59	\$0.00	\$0.00
Teacher Materials					
REVEAL MATH TEACHER RESOURCE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 1 Includes: Teacher Editions + Teacher Digital License + Assessment Resource Book and Differentiation Resource Book	978-1-26-438963-6	5	\$683.07	\$3,415.35	*Free Materials
REDBIRD MATHEMATICS TEACHER 6 YEAR SUBSCRIPTION	978-0-07-906784-5	5	\$46.35	\$231.75	*Free Materials
REVEAL MATH IMPLEMENTATION GUIDE GRADE K-5	978-0-07-694684-6	5	\$57.24	\$286.20	*Free Materials
ALEKS ADVENTURE PARRTNER 1 YEAR TEACHER SUBSCRIPTION	978-1-26-439503-3	0	\$15.00	\$0.00	\$0.00
ALEKS ADVENTURE ADD ON 6 YEAR TEACHER SUBSCRIPTION	978-1-26-481230-1	0	\$46.59	\$0.00	\$0.00
	T	eacher Mat	erials Subtotal:	\$3,933.30	\$0.00
<u>Manipulatives</u>					
REVEAL MATH MANIPULATIVE KIT GRADE 1-2	978-1-26-441731-5	4	\$577.23	\$0.00	\$2,308.92
REVEAL MATH WORKSTATION KIT GRADE 1 Includes: Workstation Teacher Guide, Game Station Resource Book, Application Station Cards, Manips: Transparent Spinners, People Pawns, Number Cubes 1-6	978-1-26-590925-3	5	\$171.90	\$859.50	*Free Materials
	-	Manipula	tives Subtotal:	\$859.50	\$2,308.92
	Reveal Math © 2022 -	Grade 1 (6	Year) Subtotal:	\$4,792.80	\$12,745.98

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	3



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2022 - Grade 2 (6 Year)					
REVEAL MATH GRADE 2 STUDENT BUNDLE WITH MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License and MH+	978-1-26-580374-2	69	\$122.61	\$0.00	\$8,460.09
REVEAL MATH GRADE 2 STUDENT BUNDLE WITH REDBIRD AND MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, Redbird and MH+	978-1-26-541775-8	0	\$140.07	\$0.00	\$0.00
REVEAL MATH SPANISH STUDENT EDITION 6 YEAR PRINT PACKAGE GRADE 2	978-1-26-438778-6	5	\$101.13	\$0.00	\$505.65
ALEKS ADVENTURE PARTNER 1 YEAR STUDENT SUBSCRIPTION	978-1-26-439680-1	0	\$15.00	\$0.00	\$0.00
ALEKS ADVENTURE ADD ON 6 YEAR STUDENT SUBSCRIPTION	978-1-26-481632-3	0	\$46.59	\$0.00	\$0.00
Teacher Materials					
REVEAL MATH TEACHER RESOURCE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 2 Includes: Teacher Editions + Teacher Digital License + Assessment Resource Book and Differentiation Resource Book	978-1-26-438973-5	6	\$683.07	\$4,098.42	*Free Materials
REDBIRD MATHEMATICS TEACHER 6 YEAR SUBSCRIPTION	978-0-07-906784-5	6	\$46.35	\$278.10	*Free Materials
REVEAL MATH IMPLEMENTATION GUIDE GRADE K-5	978-0-07-694684-6	6	\$57.24	\$343.44	*Free Materials
ALEKS ADVENTURE PARRTNER 1 YEAR TEACHER SUBSCRIPTION	978-1-26-439503-3	0	\$15.00	\$0.00	\$0.00
ALEKS ADVENTURE ADD ON 6 YEAR TEACHER SUBSCRIPTION	978-1-26-481230-1	0	\$46.59	\$0.00	\$0.00
	1	eacher Mat	erials Subtotal:	\$4,719.96	\$0.00
<u>Manipulatives</u>					
REVEAL MATH MANIPULATIVE KIT GRADE 1-2	978-1-26-441731-5	4	\$577.23	\$0.00	\$2,308.92
REVEAL MATH WORKSTATION KIT GRADE 2 Includes: Workstation Teacher Guide, Game Station Resource Book, Application Station Cards, Manips: Transparent Spinners, People Pawns, Number Cubes 1-6	978-1-26-591011-2	5	\$171.90	\$859.50	*Free Materials
		Manipula	atives Subtotal:	\$859.50	\$2,308.92
	Reveal Math © 2022 ·	Grade 2 (6	Year) Subtotal:	\$5,579.46	\$11,274.66

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	4



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2022 - Grade 3 (6 Year)					
REVEAL MATH GRADE 3 STUDENT BUNDLE WITH MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License and MH+	978-1-26-580379-7	0	\$122.61	\$0.00	\$0.00
REVEAL MATH GRADE 3 STUDENT BUNDLE WITH REDBIRD AND MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, Redbird and MH+	978-1-26-541887-8	0	\$140.07	\$0.00	\$0.00
REVEAL MATH GRADE 3 MH STUDENT BUNDLE WITH ALEKS 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, ALEKS via my.mhe, and MH+	978-1-26-544003-9	84	\$151.68	\$0.00	\$12,741.12
REVEAL MATH SPANISH STUDENT EDITION 6 YEAR PRINT PACKAGE GRADE 3	978-1-26-438795-3	5	\$101.13	\$0.00	\$505.65
Teacher Materials					
REVEAL MATH TEACHER RESOURCE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 3 Includes: Teacher Editions + Teacher Digital License + Assessment Resource Book and Differentiation Resource Book	978-1-26-438975-9	6	\$683.07	\$4,098.42	*Free Materials
REVEAL MATH IMPLEMENTATION GUIDE GRADE K-5	978-0-07-694684-6	6	\$57.24	\$343.44	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 6 YEAR TEACHER SUBSCRIPTION (OLP)	978-0-07-697183-1	6	\$46.59	\$279.54	*Free Materials
	т,	eacher Mate	rials Subtotal:	\$4,721.40	\$0.00
<u>Manipulatives</u>					
REVEAL MATH MANIPULATIVE KIT GRADE 3-5	978-1-26-441738-4	4	\$577.23	\$0.00	\$2,308.92
REVEAL MATH WORKSTATION KIT GRADE 3 Includes: Workstation Teacher Guide, Game Station Resource Book, Application Station Cards, Manips: Transparent Spinners, People Pawns, Number Cubes 1-6	978-1-26-591044-0	5	\$171.90	\$859.50	*Free Materials
	<u>I</u>	Manipula	tives Subtotal:	\$859.50	\$2,308.92
	Reveal Math © 2022 -	Grade 3 (6)	Year) Subtotal:	\$5,580.90	\$15,555.69

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	5



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2022 - Grade 4 (6 Year)					
REVEAL MATH GRADE 4 STUDENT BUNDLE WITH MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License and MH+	978-1-26-580380-3	0	\$122.61	\$0.00	\$0.00
REVEAL MATH GRADE 4 STUDENT BUNDLE WITHREDBIRD AND MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, Redbird and MH+	978-1-26-542292-9	0	\$140.07	\$0.00	\$0.00
REVEAL MATH GRADE 4 MH STUDENT BUNDLE WITH ALEKS 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, ALEKS via my.mhe, and MH+	978-1-26-544015-2	74	\$151.68	\$0.00	\$11,224.32
REVEAL MATH SPANISH STUDENT EDITION 6 YEAR PRINT PACKAGE GRADE 4	978-1-26-438810-3	5	\$101.13	\$0.00	\$505.65
Teacher Materials					
REVEAL MATH TEACHER RESOURCE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 4 Includes: Teacher Editions + Teacher Digital License + Assessment Resource Book and Differentiation Resource Book	978-1-26-438982-7	3	\$683.07	\$2,049.21	*Free Materials
REVEAL MATH IMPLEMENTATION GUIDE GRADE K-5	978-0-07-694684-6	3	\$57.24	\$171.72	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 6 YEAR TEACHER SUBSCRIPTION (OLP)	978-0-07-697183-1	3	\$46.59	\$139.77	*Free Materials
	Т	eacher Mate	rials Subtotal:	\$2,360.70	\$0.00
<u>Manipulatives</u>	-			-	-
REVEAL MATH MANIPULATIVE KIT GRADE 3-5	978-1-26-441738-4	1	\$577.23	\$0.00	\$577.23
REVEAL MATH WORKSTATION KIT GRADE 4 Includes: Workstation Teacher Guide, Game Station Resource Book, Application Station Cards, Manips: Transparent Spinners, People Pawns, Number Cubes 1-6	978-1-26-591105-8	2	\$171.90	\$343.80	*Free Materials
		Manipula	\$343.80	\$577.23	
	Reveal Math © 2022 -				\$12,307.20

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	6



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2022 - Grade 5 (6 Year)					
REVEAL MATH GRADE 5 STUDENT BUNDLE WITH MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License and MH+	978-1-26-580545-6	0	\$122.61	\$0.00	\$0.00
REVEAL MATH GRADE 5 STUDENT BUNDLE WITH REDBIRD AND MH 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, Redbird and MH+	978-1-26-542383-4	0	\$140.07	\$0.00	\$0.00
REVEAL MATH GRADE 5 MH STUDENT BUNDLE WITH ALEKS 6 YEARS Includes: Write-in Student Editions (Yrs 2-6 ship Annually), Student Practice Book (Yrs 2-6 ship Annually), 6 Yr Student Digital License, ALEKS via my.mhe, and MH+	978-1-26-544063-3	79	\$151.68	\$0.00	\$11,982.72
REVEAL MATH SPANISH STUDENT EDITION 6 YEAR PRINT PACKAGE GRADE 5	978-1-26-438813-4	5	\$101.13	\$0.00	\$505.65
Teacher Materials	•				
REVEAL MATH TEACHER RESOURCE PACKAGE 6 YEAR SUBSCRIPTION BUNDLE GRADE 5 Includes: Teacher Editions + Teacher Digital License + Assessment Resource Book and Differentiation Resource Book	978-1-26-438983-4	3	\$683.07	\$2,049.21	*Free Materials
REVEAL MATH IMPLEMENTATION GUIDE GRADE K-5	978-0-07-694684-6	3	\$57.24	\$171.72	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 6 YEAR TEACHER SUBSCRIPTION (OLP)	978-0-07-697183-1	3	\$46.59	\$139.77	*Free Materials
	Te	eacher Mate	rials Subtotal:	\$2,360.70	\$0.00
<u>Manipulatives</u>	-				-
REVEAL MATH MANIPULATIVE KIT GRADE 3-5	978-1-26-441738-4	1	\$577.23	\$0.00	\$577.23
REVEAL MATH WORKSTATION KIT GRADE 5 Includes: Workstation Teacher Guide, Game Station Resource Book, Application Station Cards, Manips: Transparent Spinners, People Pawns, Number Cubes 1-6	978-1-26-591425-7	2	\$171.90	\$343.80	*Free Materials
	-	Manipula	tives Subtotal:	\$343.80	\$577.23
	Reveal Math © 2022 -	Grade 5 (6 \	(ear) Subtotal:	\$2,704.50	\$13,065.60
Professional Development					
MH PLUS WITH CORE PRODUCT PROFESSIONAL DVLPMNT HALF DAY VIRTUAL TRAINING PREK-12	978-1-26-619663-8	1	\$1,500.00	\$0.00	\$1,500.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

QUOTE DATE:	05/14/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/12/2024
QUOTE NUMBER:	BKEAR-05142024111606-001	ACCOUNT #: 307010	PAGE #:	7



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
ALEKS ONLINE PROFESSIONAL LEARNING 1 YEAR-UNITS PER YEAR	978-1-26-510193-0	1	\$1,500.00	\$0.00	\$1,500.00
PROFESSIONAL DEVELOPMENT ONSITE TRAINING K-5	978-1-26-452859-2	1	\$3,500.00	\$3,500.00	*Free Materials
PROF LRN HALF-DAY ONLINE TRAINING 2 HOUR SESSION GRADES K-5 GENERIC	978-1-26-437304-8	1	\$1,500.00	\$1,500.00	*Free Materials
Professional Development Subtotal:			\$5,000.00	\$3,000.00	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER:

05/14/2024 BKEAR-05142024111606-001 ACCOUNT NAME: New Hampton Comm Sch Dis ACCOUNT #: 307010 EXPIRATION DATE: 08/12/2024 PAGE #: 8



QUOTE PREPARED FOR:

New Hampton Comm Sch Dis 710 W MAIN ST NEW HAMPTON, IA 50659-1004 ACCOUNT NUMBER: 307010

CONTACT:

Karen Kayser-Kemp k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

SUBSCRIPTION/DIGITAL CONTACT:

Karen Kayser-Kemp

k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

Comments:

Please start all licenses on August 1st 2024

* Price firm for 90 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or <a href="http://www.mheducation.com"/www.mheducation.com"/www.mheducation.com"/www.mheducation.com (or <a href="http://www.mheducation.com"/www.mheducation.com"/www.mheducation.com"/www.mheducation.com (or <a href="http://www.mheducation.com"/www.mheducation.com"/www.mheducation.com (or <a href="http://www.mheducation.com"/www.mheducation.com"/www.mheducation.com</

School Purchase Order Number:

Name of School Official (Please Print)

Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:	McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605
	Email: orders_mhe@mheducation.com Phone: 1-800-338-3987 Fax: 1-800-953-8691

QUOTE DATE: 05/14/2024 QUOTE NUMBER: BKEAR-05142024111606-001 ACCOUNT NAME: New Hampton Comm Sch Dis ACCOUNT #: 307010 EXPIRATION DATE: 08/12/2024 PAGE #: 9

VALUE OF ALL MATERIALS	\$111,750.50
FREE MATERIALS	(\$31,895.27)
PRODUCT TOTAL*	\$79,855.23
ESTIMATED SHIPPING & HANDLING**	\$3,992.00
ESTIMATED TAX**	TBD
GRAND TOTAL	\$83,847.23